SuMPO EPD SUMPORIESANINTOI5 L

5E“Nil:js)D _ — R EE A AT IR
.' el o F1TIRKBEE (EPD) ERHTREEAHE1-14-8
¥ERRRER KANDA SQUARE GATE

E#xE\ES ¢ JR-AI-25197E https://ecoleaf-label jp

FUJIHILM

Value from Innovation

BIOAWL EIRZX A/N=-YavkAa
FUJIFILM Business Innovation Corp.

A3 hS—EEHK

A3 Color Multifunction Printer

Apeos C3067 (Model-CPS)
(for CN)

FUJIFILM

Fr——

Apeos. Apeos O, ApeosPro. ApeosPort . LU ApeosPrint (&, BT AESRAA IN-S MK OSIRERF(IEHETT,

HEHAL ERES JR-AI-25197E
e 1L a1y EAPCRES  PA-590000-Al-08
PCR% ER A 1R
BE X SRR P 2ARA 2025% 118118
| j=2d) mES ] REEETEE  2025410830H
OEMETE QEE QiR OFFER - REEA YATLFRREA R
®BFE-USM1I) RILES 2025-FB-EL-052
IREEEZNEAR 20304108 29H
HEORN, TELHKR-FET PCRLE1-DENE
B : Apeos C3067 (Model-CPS) EHSZ 2023 98 1H
FEMKR  NT-EEE EPAR) ZER #®iF &2
FORIRE : £/270 30ppm (A4 LEF) (FRE —MABEAY AT F IR S HEE
15— 30ppm (A4 LEF) EoHGRAE BE AT
BRAABYAX A3, 11x17" NEBIRELE
POVIVEISTrE 2,
7 E ED R 85 /ADF (R 78 B 81550 #4) ISO14025 (2 o1 E S R UT -4 O3 LIAREE
ORER WAHER
*9 2T LRIE BB EGNORIOR AL, VAT LRIETLBERD
BRER .

Bluahtsh BEITAMIWLESRRAALINAR—33>%KE4t
WaEMARAREHFSUV6TBIE
https://www.fujifilm.com/fb/

Z5&ES © JR-AI-25197E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

E p D _ —BAEEAPATI IR E RS
1 EPD S4TNBBEE (EPD) eSOy
[ MERTEILED KANDA SQUARE GATE
BRET: JR-AI-25197E https://ecoleaf-label jp
PAPPERG-Z i RS
[UREE - BF kg-CO2eq 4.16E+02 3.58E+01 8.73E+01 1.36E+02 8.33E+01
AV ERBIE kg-CFC-11eq 3.33E-05 6.75E-08 2.30E-08 3.29E-06 1.72E-08
EREL kg-PO43-eq 1.28E-02 7.48E-04 1.46E-04 4.49E-03 9.17E-05
[73e21d kg-SOzeq 1.25E+00 2.15E-01 1.30E-01 5.37E-01 8.66E-02
HAEFEAFIIV kg-CzH.eq 8.13E-03 1.12E-04 8.70E-04 1.23E-03 6.54E-04
FEYEIRES - L9 kg-Sbeq 5.03E-01 1.22E-04 1.09E-05 2.00E-02 1.64E-05

S1THLIIWAIRY Y 3 IREIEE R
—REROERCET31E1R

FRERE | WERE | AR Efg';fﬁ s
BHATRE—RER - IRIF- (RPRy) MJ 9.69E+02 2.64E+02 7.93E+00 5.40E+02 3.70E+01
BAETE—RERE - IRVE-2EHE (RPRy) MJ 1.70E+01 1.70E+02 1.96E+02 6.56E+02 7.02E-03
FEFETEE—RER - ITRILF¥- (NRPRY) MJ 7.04E+03 1.12E+03 9.78E+02 2.90E+03 4.29E+02
FEBEATE—RER - IRLE-2HBME (NRPRy) MJ 1.08E+03 3.05E+00 2.76E+00 1.90E+02 9.30E-02
HKKDEEE m? 3.38E+00 1.79E+01 2.06E+01 6.92E+01 6.64E-03
HEBRICEAT2EMIER
HREEERATEELTERELELE,
EAMEPHR)DEEYFUATEELTVET,
B RO EFE AR EMTT,
(B - MR ICB BRI EROETEEENE A,
ERBOEN . IRVF-25-T0TF LVer3 28 (SR> TCHE LETECIEZ TICEELELE,
- R EENRIMELE. 135,000 T,
1/4 x 30 (¥37/8) x 15 (%) x 5 (B) x 4 GB) x 12 (7 B) x 5 (£F) = 135,0004%
ZDftDIRIERE SR
MRS LOYECE S 28RS EEYMECETZIER
-8 (ERIBS) Bifyy b= CAS No. ENE
@ 28 kg - - -
SuUS 0.14 kg - - -
TIVIZUA 14 kg
ZothERE 5.2 kg ERALEZRT-IDEZXS
T3AFvY 26 kg REAIE, LCIT-5N-2RIDEA Ver3.4, SUMPOREININTOIS L& FT -5
BN 0.42 kg Ver.1.16& AL TWET,
AR 19 kg
R [ AR 1.1 kg -
it 35 kg
Z0ft 1.6 kg

@T-YEEDHEL. PCRELUVEE - ESHEESBL TR,
OLLEIIDVTE. BEE - EERBICRESNREEHB LSS LLARDONEEA,
(BEBSURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

